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A material has a shear modulus of 4.615 GN/m. When a solid body of this material is

subject o a hydrostatic pressure of 1 GN/m’, its volume decreases by 10.0 %. Use the

appropriate relations between the elastic constants to show that its Poisson’s ratio is 0.3
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how that Young’s Modulus is 12.0 GN/m’. 110%]

This material has a strain energy release-rate of 100 kI/m’. What is its critical stress
inteniy fctor vader PSS SE-Conons?
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A bar of this material is subject to a tensile stress of 300 MN/m”. It contains edge cracks,
for which the finite width correction factor is 1.12. How big do the edge flaws have to be
if they are to grow catastrophically? _
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